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. x+3y = 2 .. Sr+4dy = -2
r+2y+3z2 = 4
(iii){ 20 +5y+3z = 13
x+ 8z = -5

O00@G)0000 P33008000OOOOO
(5-2) OO0O0OOOUDOOO

2 4 — = 1

(1) (ii)¢ —2z—by—2z+13u = —4
2c+y+z2+2u = -2
T+3y+2:-3u = 0 Setdyt2z-2lu = 0

(5-3) DO0O0OO0UOOO0O0OOO0OUDODOOOODOOO(DODO P4aTO 2400)

r+3y+T7z+50 =
2¢ + 4y + 82+ 6w =
r+0y+1324+9w =
3z +6y+ 1224+ 9w =
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(1) T —2y+ 3z
2z + 5y + 62
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(5-4) a,b,c0 00OO0O0OO0OO ea+b4+¢=00000000000000000000O0(0OOODOO
O0oOooooooooon)

axr + by + cz
bx +cy+az =
cx+ay+bz = ¢
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(5-1) (i) z=1/2,y=1/2

(i) = = —10/7,y = 9/7

(iii) 2 =3,y =2,2=—1

(5-2) () z=-1-2XNy=14+XNz=—-14+XNu=2A
(i)
(5-3)
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(5-4) x=1+Ny=X\z=\



